Mean:
	From a list of numbers – Add the numbers and divide by the number of numbers.
			e.g.   Find the mean of the following:
				3, 5, 8, 2, 4, 6, 4, 8, 9, 3. 
				Mean   =   	
	From a frequency table 
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Median:
	The middle number when the data is listed in increasing order.
		e.g.	Find the median of the following:
			(i)	2. 5. 3. 7. 9 5. 4. 3. 7. 
		In order -    2, 3, 3, 4, 5, 5, 7, 7, 9
			The median is the middle number = 5
			(ii)	3, 7, 4, 5, 7, 8, 3, 6, 3, 9
		In order-     3, 3, 3, 4, 5, 6, 7, 7, 8, 9	
			There are two middle numbers 5 and 6 so we add and divide by 2.
				
Mode:
	The number that occurs most often in a list of numbers.
		e.g.	4, 6, 5, 8, 7, 3, 6, 5, 3, 3, 2, 0, 7, 3
		3 occurs most often so 3 is the mode. 
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‘The salaries, in €, of the different employees working in a call centre are listed below.

2000 16500 38000 26500 15000 21000 15500 46000
42000 9500 32000 27000 33000 36000 24000 37000
65000 37000 24500 23500 28000 52000 33000 25000
23000 16500 35000 25000 33000 20000 19500 16000

() Use this data to complete the grouped frequency table below.

Salary
0-10 | 10-20 | 20-30 | 3040 | 40-50 | 50-60 | 60-70
(€1000)
No. of
Employees | 1 6 12 9 2 1 1

(b)

[Note: 10-20 means €10000 or more but less than €20000, etc.]

Using mid-interval values find the mean salary of the employees.

‘The mid - interval values are 5000, 15000, 25000, 35000, 45000, 55000, 65000

Mean =

(5000x1) + (15000 6) +(25000x12) + (35000 x9) + (45000 2) + (55000 1) + (65000 x 1)

32

_ 5000 +90000 + 300000 + 315000 +90000 + 55000 + 65000

_ 920000

32
=€28,750
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